Fitting instructions

Make:
C3 Picasso; 2009->

Citroén

5212

Type:




M10x30 (10.9)
65Nm

M12x1,25x40
100Nm

5212/6

110Nm

M12x75 (10.9)

>
?{K M12x1,25x40

M10x30 (10.9)
65Nm

100Nm

M10x30 (10.9)
65Nm

© 521270/03-08-2011/1

© 521270/03-08-2011/14




¢/110¢-80-€0/0Lc1cS @

WNG9
(6°01) OEXOLIN

WNOO L

AN AT k}i
| N
WNS9
(6°01) OEXOLIN

"~ )

WNS6
(6°01) G/Xx2IIN

WNOOL
(0] 2 TA R AR

WNS9
(6°01) 0EX0LIN

9/212S

€1/110¢-80-€0/0LC}cS ®




(6x) HM10x30

(4x) HM12x1,25x40 (8.8)

(2x) HM12x75 (10.9)

(6x) M10
@ (4x) M12
E@ﬂ (4%) M10
‘ (4x) M12x1,25
& (2x) M12 (10)

Self-locking

© 521270/03-08-2011/3

© 521270/03-08-2011/12




¥/1102-80-€0/0Lc1cS @

¢NOILYOIdiaon )

N €2 :onjep-a

60S2-00 LI°®

panoiddy

03/02/v6

X-0SV :ssejosbujdno)

L1/1102-80-€0/0LC1cS @

i

Buoo|-jlos
(01) 2LIN (xe)

ZILN (x2)

)
h@ f (601)

y

&

|

Viwes
\\ \ o SLXZLNH (x2)

; utIes

; Huiess




1000km

NL.

* Thule is niet aansprakelijk voor de schade die het direct of indirect
gevolg is van onjuiste montage, daaronder begrepen gebruik van niet-
geschikte gereedschappen en het gebruik van andere dan de voorge-
schreven montagewijze en middelen, dan wel onjuiste interpretatie van
dit onderhavig montagevoorschrift.

GB.

NOTE:

* Should this installation process entail the cutting of the bumper — con-
formation MUST be obtained by the installation engineer of the custo-
mer’s acceptance prior to completion. Thule Towing Systems do not
accept responsibility for any matters arising as a result of this miscom-
munication.

All measurements are in mm!

* Thule is not liable for damage caused directly or indirectly by incorrect
assembly, including the use of unsuitable tools, the use of other assem-
bly methods and means than the ones outlined, and the incorrect inter-
pretation of these assembly instructions.

D.

HINWEISE:

* Die fur das Fahrzeug zugelassene Anhangelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Anderungen des Fahrzeuggewichtes muf die hochst-
zulassige Anhangelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.

Auskunft hierlber kann Ihr Fachhandler oder der TUV geben.

* Elektrische Anlage gemap StVZO anbringen.

* Thule haftet nicht fur Schaden, die als direkte oder indirekte Folge einer
nicht ordnungsgemaBen Montage auftreten, darunter fallen auch die
Benutzung von ungeeigneten Werkzeugen, andere als die vorgeschrie-
benen Montageverfahren und Montagemittel sowie eine fehlerhafte
Interpretation der betreffenden Montageanweisung.

F,

* Thule décline toute responsabilite pour les dommages qui pourraient
directement ou indirectement résulter d’'un montage incorrect, y compris
I'utilisation d’outils inappropriés et I'utilisation d’'un mode d’emploi et de
moyens autres que ceux prescrits, ou bien résulter d’une interprétation
inexacte des présentes instructions de montage.

S.

* Thule ar inte ansvariga for skada som orsakats direkt eller indirekt av
felaktig montering, inklusive anvandning av olampliga verktyg, andra
monteringsmetoder och processer an de som beskrivs, samt felaktig
tolkning av dessa monteringsinstruktioner.

DK.

* Thule er ikke ansvarlig for skade der direkte eller indirekte er forarsaget
af forkert montage, herunder ogsa iberegnet brug af forkert veerktej og
anvendelse af anden montagemetode og andre montagemidler end de
foreskrevne samt fejltolkning af den medfalgende montagevejledning.

E.

* Thule no se responsabiliza por dahos causados, directa o indirectamen-
te, por un montaje incorrecto, incluyendo el uso de herramientas inade-
cuadas, por el uso de métodos de montaje y medios distintos a los indi-
cados y por la interpretacion incorrecta de estas instrucciones de mon-
taje.

I

* Thule non pub essere ritenuta responsabile per eventuali danni diretta-
mente o indirettamente dovuti ad un errato montaggio, intendendo con
cio anche l'uso di attrezzi non idonei e I'uso di metodi e mezzi di mon-
taggio diversi da quelli prescritti, nonché all'errata interpretazione delle
seguenti istruzioni di montaggio.

PL.

* Firma Thule nie ponosi odpowiedzialnosci za straty poniesione posred-
nio lub bezposrednio na skutek niewtasciwego montazu, w tym uzycia

© 521270/03-08-2011/5

e // /
(1x) HM10x30 (10.9) “‘m /

00

(1x) M10

(2%)
HM12x1,25x40 |

&

G
\@

(2x) M12

(2x) L
M12x1,25 [

(2x)
HM12x1,25x40

(2x) M12

By (2x)
F mi2x1,25

© 521270/03-08-2011/10



9/110¢-80-€0/0L21cS ©@

6/110¢-80-€0/0Lc1cS @

*f>KBLHONW OU Uun

-9AdLOHM MSMBOLOBH BMHBAONL0LOM 0JOHILMaedUaH 0guLr ‘UMhAdLOHM & oHeouuadu

Woh ‘aLoffadd xuJADE MM BXEBLHOW BQOOOLO OJOHM BUHBHBWMAL M 80LHBWAALOHM

XUMBTOXTOUSH BWUHREOEIUOLOM SLOUh WOL 9 ‘BXBLHON O0JOHAUMgRdUSH Weudld
-ToUD WISHHEEI0M MUM WiawidU BouMmoisLial ‘gdeimiA e LoBhog10 oH 9Ny ewdug ,
‘sSnd

‘algsgzow

-|lol9 SOA9) Qleinwin IS9|9J9ZS B JUIWBIBA ‘BlesezZBUede YQZQXZSo

S9 Molozspow 0I9)|o |QBeMId] B ‘elele[euzSey )OWezsIozs Q|o|o

-JBoW Wau B YIZO}IBUOA Z3 "L9Y0IeY QZOX1OAQY UOPQW 11819AZ0Y ABeA
UB19AZQY |9gsa|aiazs glojaibaw wau e 1069SS0|9je} [BlleA Wau 9|NYL V .
H

“Izeluow ¥ nukyod olyosy

wjuadoyood whuagidseu e yokuspaan zeu nypaJisoid e 8zejuow pojew

yoAull miznod ‘nlonseu yoAupoyasu jznod suiegA ‘jzejuow nouAeidssu
guagosndz Apoxg guwyideu Iue gw)id ez gpirodposu ejnyl 1sougs|ods ,
Z0

"B]SBUUD|NIULIBRA UBplalyosnuuase us)siosAy B)as BisolAey usplauljea

1] uslweleuawsnuuase ualnyurew essialyo uiny uspinw ‘elsoihey usl

-n[ex0A1 usiwonewidos uiny UIOWES B)SeSYNUUSSE BISBIBBA Inuninayie
ueeionseds Ie] ueelons U0 B)Ol ‘BISesILNYIOIA BSSNN]SBA 9]0 19 8|ny] ,
ES

‘Ifoynsul 19591} Op IS SIUBMOS0}SEZAIU ZBIO

‘eloynisul z yoAupobzelu nzejuow moqosods | 1zpdzieu YoAMIOSEIMSIU

(6°01) OEXOLIAH (X1)

0L (x2)

OLIN (x2)

(6°01) OSXOLINH (x2)

=I5
V\
y 4
-~
L
T




© 521270/03-08-2011/8




 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: large enough for 100% scale
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     0
     0
            
       D:20110728081803
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     546
     213
    
     0
     Sufficient
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





